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Question 1: MULTIPLE CHOICE. Circle the correct answer. (8 Marks)

1. x- intercept for the line x —y = 1is:
2. The slope of aline y = 19 is:

a) 0 b) -19 c) 19 d) Undefined
3. The equation of the line that goes through the point (1, 1) and has a slope of 5 is:

a) y=-5x b) y =5x c) y=5x+4 dy=5x—-4
4. The slope of a line that is perpendicular to the line y=3x+7 Iis:

-1 3

5. Two lines are perpendicular. If m, = 2, then m, is.

a) my =2 b) m; = -2 c)m1=—% d)m; =0
6. Simplify: (— 7—y)0

pily: 5x

a) —2 b) 0 ¢) undefined d) 1
7 Simplify: (72)

a) 7 b) 75 c) 76 d) -
8. Simplify: (4~ 1)(4%)

a) 16 b) — )= d) 4
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Question 2: (5 Marks)

Draw the graph for the linear inequality

5x + 5y = 20
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Question 3: (3 Marks)

Rationalize the denominator:

Question 4: (8 Marks)
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a) Find the slope and the equation of a line that passes through (1,1 ) and (5,5).

1. Theslope (m) = (2 Marks)
2. The equation (3 Marks)
b) Find the equation of a line that passing through (1,2) and the slope is 8. (3 Marks)

Question 5: (6 Marks)
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Simplify the following with positive integers:

a) (—2x1y?)(5x7y*) = (2 Marks)
36x8y8
b) 18x2y2 (4 Marks)

End of Midterm Exam Model Paper
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SCRATCH SHEET
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Note:

1. This scratch sheet will not be marked.

2. Do not detach it from the rest of exam papers.



